147

65

187

25

10

20

1001

11kg/cm?

D.D.R



50 60

50mg pH4.8

1985 6

0.2

git *‘% 7K %%'ﬂ:$ 7:7?—“/‘/0
¢ (%) (%> V7 =& (%)
£ A B 43.6 68.4 26.7
B ¥ 3B 13.3 69.3 26.9
i & R R 3.0 64.8 28.1
1
D.D.R
20 40 43.6
2 13.3
105
3.0 3
1
68.4 69.3
105
2
59 9 16 16 32 32 60
60 115 115 6
TDN D.D.R
7
1
32 115
10ml 115
40 5 9
115

g
1
g:J x 100

11



1t

RV

1t

&V #

72

70

68

66

62

75

50

25

60

1t

I 20

RV #

60 80 100 120

E (yva)

____——a
a——0 71.4 %

- / J—
T __0 53.3%
FF o
/

a2

/A

o

20, 30 40
B o B B (h)

/”_’____.._A
31.2%

3.2 53.3 T71.4

12

L 40+

D71.4%
v = 4.93 % +26.40
o—8
n/
u/u/y = 2.62 x+19.0%/g 53.3 %
. A g
F 00T =098 x +8.83
a A A A——R31.2%
1 2 3 4 5
¥ i B M (h)
3
80 -
g 60
R o
o /
ot Y = 1.06 X +17.1
it a0t
$
% /
20 |
L ! *a
0 20 20 60
5 RefloELR (%)
4 5 48
48 4
5 17
438
29 200ml



G3

100ml 3 1 0r

60

i 40

20

X #

10

32 60
5 17

1985 6
13

£

5 10 15 20 25 30
#cHHER (%)

M5 BokiHsK & LR OESR

16



